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Sl SEXE ALY EEEEED
- _ _ NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 G BB
sEXNE 4,227,190 3,390,463 836,727
= 570,577
& 273,000
= 32,100
& 228,452
Al 3,123,061
sENEZ sgZy=LE 3,861,535 3,081,483 780,052
= 570,577
& 273,000
2 32,100
= 228,452
Al 2,757,406
SELEMY 1,057,287 940,281 117,006
= 13,077
= 228,000
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= 1,620
Al 807,090
SEXNTIIEHAIA 55,000 410,300 A 355,300
101 1A 5,000 4,700 300
04 JIZHMIZ2XNSE = 5,000 4,700 300
O 40 B85 23 (ZAr2al) 5,000,000& * 14 5,000
207 A IHEHI 50,000 0 50,000
01 A& 50,000 0 50,000
O =sgllsdy ZHAY Z2FH(BE)E8Y 50,000,000 = 14l 50,000
sEXNTZAY XI& 265,980 264,644 1,336
101 el 4] 119,720 105,024 14,696




SN SEXCD
Y SENCTE SYPWALH

Sel: SEXE ALY (B9 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
04 JI2tRIZ2E2ENEE S 119,720 105,024 14,696
O QIEHXIS AL 12 80,750
O Jl2s 50,000& » 24 = 5% x 118 66,000
O =54 50,000& =+ 48 =« bH9H 12,000
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0 sg3dmrsa 222y 13,136
O Jlzsae 33,0003 » 1 » 280 9,240
O =54 33,000& * 199 * 52 1,716
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(0 4028s RE2(=s87Ed) 1,549
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O HHEE 13,136,000 * 3.3/100 434
O LI LEH 435,000 * 4.05/100 18
O EArztel o182y 13,136
O Jleae 33,0003 » 1¥ » 280 9,240
O =5=+¢ 33,000& * 19 * 52 1,716
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O sJHus Wi M 1,000& = 1,000% 1,000
202 04 3,600 800 2,800
01 SO 3,600 800 2,800
O sJ1H #xior2 odl 80,0008 » 9& » 5 3,600
206 X =Hl 250,000 151,000 99,000
01 M=zHl 250,000 151,000 99,000
O sIAH ==+l 2357 250,000
O FY2S 10,000& * 1005 = 1704 170,000
O RYR= 10,000& * 100 = 80 80,000
SIAHuN=sS& &I 52,800 125,200 AT2,400
= 26,400
Al 26,400
405 KHats S| 52,800 125,200 AT2,400
= 26,400
Al 26,400
01 AL =SFSHI 52,800 125,200 AT2,400
O =2 02XAH 52,800
O sgllAnssa Y] 52,800
EdH(2E) 28,000,000& = 1CH 28,000
= 14,000
Al 14,000
SEU =D (X5=4]) 10,000,000& = 1CH 10,000
= 5,000
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2N SENED
B SE2NCR SUFMAYS

=
=]

&Rl sI1H X (chel: &3
- _ _ XN -
SH - EB - S(BH) - MBAY - BES 0l &k 24 e BB
Al 5,000
oOIZBE 84S 0| 5,000,000& = 1CH 5,000
= 2,500
Al 2,500
HaI(5tRAE) 9,800,000 = 1CH 9,800
2 4,900
Al 4,900
HEE SOIAHZUH=28 & 728,600 1,168,896 AN440,296
201 B3| 18,600 9,900 8,700
02 =234l 18,600 9,900 8,700
02223 2 MA 15,000
O dUi=sIIH 8= 150,000& = 100CH 15,000
O A8 ZHIR Xl 300,000& = 304 = 43l 3,600
206 M= 4l 60,000 60,000 0
01 M=H| 60,000 60,000 0
O sJ1H SUAEE A2H48F 22 40,0003 * 100CH * 158 = 13l 60,000
401 Al &HIL 201 300,000 625,996 A 325,996
01 Al&HI 300,000 612,379 A 312,379
O AEE=sIIH diHed EX0sl 300,000,000& = 14 300,000
405 AHoHESHI 350,000 473,000 A 123,000
01 XL SSFSHI 350,000 473,000 A 123,000
[ ESH? 48 40,000,000& * 5& = 17| 200,000
] &3 2Etel2l 29% 5,000,000& = 30& 17| 150,000
SIOIH S A (01) 15,000 15,000 0
= 9,600
Al 5,400
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2N SENED
B SE2NCR SUFMAYS

=
=]

el SIIAH X (

i
$
F]
o

SN - H - SRA(EH) - MRAY - Hl

e
0%
o
=
x
2

2 (A

R

J2H
0l
N

405 XtotE SHI 15,000
9,600
5,400

15,000 0

=M

Sl 15,000 15,000 0
O sJ1H WsE3dd 2 5,000,000& *» 35 15,000

9,600
5,400

=M

SO AL AL 1,036,960 0 1,036,960
500,000
150,000
386,960

= H W

401 AIEHIZL 20 736,960 0 736,960
350,000
105,000
281,960

=MW

01 Al£Hl

=
dEEsI A2 EX A=H|

02

03 Al

700,000,000& * 2.99%
700,000,000& * 14

700,000,000& * 1.66%

= H W

720,930
720,930
720,930

20,930
700,000

350,000
105,000
245,000

11,620
11,620
11,620
4,410
4,410

720,930

11,620

4,410
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SN SEXCD
Y SENTR SARMAL

=
=]

&Rl sI1H X (el &
- _ _ NUE &
SN EB . SR(BH) - MRAY - BES 0l &k 24 G DB

O AdEsoHedUEd AIL=2U| 700,000,000& * 0.63% 4,410

405 XtobE SHI 300,000 0 300,000
= 150,000
= 45,000
Al 105,000

01 T =SS HSHI 300,000 0 300,000
O =022 A 300,000
O AFZE22 205 290,000,000& = 14 290,000
= 145,000
& 43,500
Al 101,500
O AIREHl 2 10,000
ARAED 2 10,000,000& = 1= 10,000
= 5,000
= 1,500
Al 3,500

SEHE45 HOIEH E=SAY 30,000 0 30,000
L= 9,000
Al 21,000

402 SI2tXHE01H 30,000 0 30,000
L= 9,000
Al 21,000

01 S22 E X 30,000 0 30,000
[ SHIEXZAE 30,000
O sX=+8 HOIEH 2E=AY 30,000,000& * 14 30,000
& 9,000
Al 21,000

22| e F0IE AIHAY 9,000 0 9,000
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SN

X ZH -
o= -

SEXC D
SENEE SHIWAYE

=
=]

&2 sI1AH N T &t
SN - HE - S(EH) - MR - Ao e 2t

= 2,000

Al 7,000
206 M= Hl 9,000 0 9,000

= 2,000

Al 7,000
01 M=H| 9,000 0 9,000

O SHIEXZAE 9,000

O Z2J g 20ls NBES 10,000,000& * 14 = 90/100 9,000

& 2,000

Al 7,000
HH2AZH (=X ) 365,655 308,980 56,675
el 2| 318,077 261,642 56,435
ol et (SEXT D) 318,077 261,642 56,435
101 el 312,677 256,242 56,435
01 2=+ 89,856 104,832 A 14,976

O =22 89,856

O Azte 24 7,800& * 24H « 40A12+ * 123 89,856
03 RIHAZZXNE = 222,821 151,410 71,411

O sJIH =2l & 222,821

O JleEae 57,0008 * 7% » 248 98,952

O &= 98,952,000 * 4/12 32,984

O =54 57,000& * 798 * 52 20,748

O Al2tel 282¢ 7,800& * 7H * 20Al2t « 128 13,104

O 524 85,500 * 79 * 25¢ 14,963

O gx=g 57,000& » 79 * 20 7,980

O 1=l 80,000& * 7H » 2% 23] 2,240
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